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48b (x mwn) > 49b (8022 15 7VHT TWIN)

Note: all lands are categorized into vy (finest), 2212 (middle) and n112°r (worst). There is a dispute whether there is an objective standard
(o5 5v3) used here or if it is subjective and dependent on the property of the individuals involved in the payment. Within this latter
approach, there is a well-known dispute between 5SNYp®? “1and N2y “1as to whether, in cases of damages, we rank the land based on the total
estate of the 7?1 (who must pay — »”7) or the jpr’3 (whose property was damaged — S8 *7)
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I ' mwn: payment for 210 5va ,pr and n2md — assumedly due to o%wn 1PN
a pn-getsnmy (v.1)
i challenge: this isn’t o) yn Np'n, it’s the essential nn 17 (v. 1)
ii  answerl (»7ax8): responds to YRYNY’ "1’s position — n"nn we rank based on pry’s property; 02w NN Nan - we
rank based on p>tn’s property:
1 N29pp ’7 the text comes to grant pr1 from n'1y — and 1" for vT1pn (meaning discussed below)
2 challenge (to 5xypw’ 79): if the offending animal ate up good fruit, it’s reasonable that his owner should pay
from good land; but if he ate from inferior crops, why should the owner pay from good land?
(a) Answerl: dispute is when we don’t know the class of crops that he destroyed
(i) Block: if so, he should pay the lesser amount — 1?X31 Y9 177200 RN
(b) Answer2: dispute is when pri’s best is equal to p'1n’s worst:
(i) 7 we rate based on pri (and p’tn cannot be asked to pay more) — based on parallel occurrences
of nTYinv. 1
(if) »”r we rate based on best of p’tn — implication of verse “the best of the one who is paying”
1. »”r. w"1y works as per above; implication of verse works for case where p’tn has m1y and nmar
and his 1 is worth less than n*1p of pr1 —he pays from his own oy ("prrn Hv”)
3 revisiting Y"7's 1.
(a) might mean: if one of “our” oxen gored an ox of VTpn —
(i) rejected: v. 2 indicates that there are no Pmwn except when he damages 1y 7w
(b) might mean: if someone pledged money to w1pn, the 7ar can collect from n 1y
(i) rejection: in that case, he is a 210 Ypa — should only collect nonra
1. even if: "1 maintains that n"ya collects n1y we could challenge by pointing out that at least a
n’ya has full collected rights if damaged, unlike wTpn
(c) Rather: case is where one of “our” oxen gored an ox of w1pn — follows n”aw — if WTpn MW gores one of
“ours” — exempt; if one of “ours” gores wTpn Y MW — whether on or TN - pays full
(i) Note: if so, perhaps their dispute isn’t about a case where n'1p of pri= nnax of ptn; perhaps
their dispute is whether to accept ®'vin 12 Pynw 1?
1. rejection: the phrase "21m50 Ra RY” has no meaning; neither does w1pn% v"p also, explicit kn»12
supporting straight-up dispute as to pr w1 or prin Hwa
iii  answer2 (8¥227): our mwn follows »™, also following W™ who is RIpnn DYV WNT; to wit — the reason the N
enforced prtn Ywais (In”nn) 0NN PPN
1 So that: thieves and thugs won’t see a field they want and seize it; now they know that they’ll lose their
best land
2 And:reason that n”ya collects n"31; so he won't see a field he wants and jump to lend
(a) Ifso: why not collect nman
(b) Answer: that will prevent people from lending
3 Finally: nn21a nwR namd (11’ 1) — because she has more of an interest in marrying; in addition, the man
(only) requires ny7 (consent) to divorce
(a) Meaning: that’s why there is no nam> for her to pay to him
b 21 %1 -gets 2
C  Namd - gets MY
i dissent: n™ — n1m3 also gets i
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